Multiplying Integers (A)

Name:

Date: _____

Score:

Calculate each product.

$$11 \times (-12) =$$

$$12 \times (-11) =$$

$$8 \times (-12) =$$

$$11 \times (-11) =$$

$$-11 \times 9 =$$

$$-9 \times 9 =$$

$$-10 \times 11 =$$

$$10 \times 12 =$$

$$11 \times (-8) =$$

$$-10 \times 8 =$$

$$8 \times 9 =$$

$$8 \times (-8) =$$

$$-9 \times (-8) =$$

$$-10 \times 3 =$$

$$-12 \times (-8) =$$

$$11 \times 3 =$$

$$-10 \times (-9) =$$

$$-8 \times (-2) =$$

$$-12 \times (-12) =$$

$$-5 \times (-7) =$$

$$9 \times 11$$

$$-11 \times (-10) =$$

$$-9 \times (-12) =$$

$$1 \times (-6) =$$

$$12 \times 9$$

=

Multiplying Integers (A) Answers

Name: _____ Date: ____ Score: ____

$$11 \times (-12) = -132$$
 $12 \times (-11) = -132$

$$8 \times (-12) = -96$$
 $11 \times (-11) = -121$

$$-11 \times 9 = -99 \quad -9 \times 9 = -81$$

$$-10 \times 11 = -110 \quad 10 \times 12 = 120$$

$$11 \times (-8) = -88 \quad -10 \times 8 = -80$$

$$8 \times 9 = 72 \qquad 8 \times (-8) = -64$$

$$-9 \times (-8) = 72 \quad -10 \times 3 = -30$$

$$-12 \times (-8) = 96$$
 $11 \times 3 = 33$

$$-10 \times (-9) = 90 \quad -8 \times (-2) = 16$$

$$-12 \times (-12) = 144$$
 $-5 \times (-7) = 35$

$$9 \times 11 = 99 -11 \times (-10) = 110$$

$$-9 \times (-12) = 108$$
 $1 \times (-6) = -6$

$$12 \times 9 = 108$$

Multiplying Integers (B)

Name: Date:

Score:

$$10 \times (-11) =$$

$$9 \times (-12) =$$

$$-12 \times 12 =$$

$$8 \times (-9) =$$

$$10 \times (-8) =$$

$$-12 \times (-11) =$$

$$-8 \times 11 =$$

$$12 \times (-9) =$$

$$-8 \times (-10) =$$

$$-9 \times 11 =$$

$$-12 \times (-10) =$$

$$10 \times 10 =$$

$$-11 \times 10 =$$

$$12 \times 8 =$$

$$-11 \times (-9) =$$

$$-10 \times 4$$

$$-11 \times (-8) =$$

$$8 \times 2$$

$$10 \times 12 =$$

$$-3 \times (-12) =$$

$$-8 \times (-12) =$$

$$-3 \times (-2) =$$

$$9 \times (-10) =$$

$$8 \times (-8) =$$

$$-10 \times (-9) =$$

Multiplying Integers (B) Answers

Date: Name:

Score:

$$10 \times (-11) = -110$$
 $9 \times (-12) = -108$

$$9 \times (-12) = -108$$

$$-12 \times 12 = -144$$

$$8 \times (-9) = -72$$

$$10 \times (-8) = -80$$

$$10 \times (-8) = -80$$
 $-12 \times (-11) = 132$

$$-8 \times 11 = -88$$

$$-8 \times 11 = -88 \qquad 12 \times (-9) = -108$$

$$-8 \times (-10) = 80$$

$$-9 \times 11 = -99$$

$$-12 \times (-10) = 120$$
 $10 \times 10 = 100$

$$10 \times 10 = 100$$

$$-11 \times 10 \qquad = -110$$

$$12 \times 8 = 96$$

$$-11 \times (-9) = 99$$

$$-10 \times 4 = -40$$

$$-11 \times (-8) = 88$$

$$8 \times 2 = 16$$

$$10 \times 12 = 120$$

$$10 \times 12 = 120 -3 \times (-12) = 36$$

$$-8 \times (-12) = 96$$

$$-3 \times (-2) = 6$$

$$9 \times (-10) = -90$$

$$8 \times (-8) = -64$$

$$-10 \times (-9) = 90$$

1				/ ~ \
$\mathbf{N} \mathbf{I}_{111}$	ltin	lina	Intogorg	<i>((</i> ')
IVI U	11117	צווועו	Integers	$\cdot \cdot$
	P	7		ヽーノ

Name:

Date:

Score:

$$-9 \times (-9) =$$

$$-10 \times 11 =$$

$$11 \times (-10) =$$

$$-11 \times 8 =$$

$$-11 \times (-11) =$$

$$8 \times 8 =$$

$$12 \times (-11) =$$

$$-5 \times 3 =$$

$$-11 \times (-12) =$$

$$-10 \times (-7) =$$

$$-8 \times (-11) =$$

$$2 \times 10 =$$

$$8 \times 9 =$$

$$5 \times 12 =$$

$$-10 \times 12 =$$

$$12 \times (-12) =$$

$$8 \times 12 =$$

$$12 \times 4$$

$$-9 \times (-11) =$$

$$-2 \times (-7) =$$

$$10 \times 10 =$$

$$-9 \times (-10) =$$

$$12 \times 10 =$$

$$-1 \times 2$$

$$8 \times 10$$

$$1 \times 2$$

Multin	olving	Integers	(C)	Answers
muni	Jiyiiig	inugus	(\mathbf{C})	Allsweis

Name: _____ Date: ____ Score:

$$-9 \times (-9) = 81 \quad -10 \times 11 = -110$$

$$11 \times (-10) = -110$$
 -11×8 = -88

$$-11 \times (-11) = 121$$
 $8 \times 8 = 64$

$$12 \times (-11) = -132$$
 $-5 \times 3 = -15$

$$-11 \times (-12) = 132$$
 $-10 \times (-7) = 70$

$$-8 \times (-11) = 88$$
 $2 \times 10 = 20$

$$8 \times 9 = 72 \qquad 5 \times 12 = 60$$

$$-10 \times 12 = -120$$
 $12 \times (-12) = -144$

$$8 \times 12 = 96 \qquad 12 \times 4 = 48$$

$$-9 \times (-11) = 99$$
 $-2 \times (-7) = 14$

$$10 \times 10 = 100 -9 \times (-10) = 90$$

$$12 \times 10 = 120 -1 \times 2 = -2$$

$$8 \times 10 = 80$$

1.		_		/ \
N/11114	112 2711	na In	tegers	(1)
wul	.11.71.711	ווו צוו	reserv	しし
		0		(– <i>)</i>

Name: ____ Date: ____

Score:

$$9 \times 9 =$$

$$-8 \times 11 =$$

$$-11 \times (-12) =$$

$$-9 \times (-12) =$$

$$12 \times (-9) =$$

$$8 \times (-3) =$$

$$-10 \times 8 =$$

$$-3 \times (-10) =$$

$$-10 \times 12 =$$

$$9 \times (-8) =$$

$$-11 \times 8 =$$

$$1 \times 8 =$$

$$-11 \times 10 =$$

$$-1 \times (-1) =$$

$$-9 \times 10 =$$

$$12 \times 1$$

$$10 \times (-9) =$$

$$6 \times (-4) =$$

$$-8 \times (-9) =$$

$$-8 \times 8$$

$$-12 \times 8 =$$

$$-12 \times 7$$

$$12 \times (-12) =$$

$$5 \times 6$$

$$-7 \times 9$$

Multii	nlving	Integers	(D)) Answers
Multi	prymis	Integers	(\mathbf{D})	<i>, </i>

Name: _____ Date: ____ Score: ____

$$9 \times 9 = 81 -8 \times 11 = -88$$

$$-11 \times (-12) = 132$$
 $-9 \times (-12) = 108$

$$12 \times (-9) = -108$$
 $8 \times (-3) = -24$

$$-10 \times 8 = -80 \quad -3 \times (-10) = 30$$

$$-10 \times 12 = -120$$
 $9 \times (-8) = -72$

$$-11 \times 8 = -88 \qquad 1 \times 8 = 8$$

$$-11 \times 10 = -110 \quad -1 \times (-1) = 1$$

$$-9 \times 10 = -90 \quad 12 \times 1 = 12$$

$$10 \times (-9) = -90$$
 $6 \times (-4) = -24$

$$-8 \times (-9) = 72 \quad -8 \times 8 = -64$$

$$-12 \times 8 = -96 \quad -12 \times 7 = -84$$

$$12 \times (-12) = -144$$
 $5 \times 6 = 30$

$$-7 \times 9 = -63$$

Multiplying Integers (E)

Name:

Date:

Score:

$$-11 \times (-10) =$$

$$8 \times 9 =$$

$$11 \times 9$$

$$-1 \times 7 =$$

$$12 \times 9 =$$

$$8 \times 1 =$$

$$12 \times 8 =$$

$$10 \times 2 =$$

$$9 \times (-8) =$$

$$-5 \times 7 =$$

$$-10 \times 8 =$$

$$11 \times 5 =$$

$$-12 \times 10 =$$

$$5 \times 8 =$$

$$8 \times (-10) =$$

$$-6 \times 4 =$$

$$12 \times 11 =$$

$$11 \times 8 =$$

$$8 \times (-12) =$$

$$-5 \times 5 =$$

$$-10 \times (-11) =$$

$$10 \times (-9) =$$

$$12 \times 12 =$$

$$4 \times 8 =$$

$$10 \times 10 =$$

Multiplying Integers (E) Answers

Date: Name:

Score:

$$-11 \times (-10) = 110$$
 $8 \times 9 = 72$

$$8 \times 9 = 72$$

$$11 \times 9 = 99$$

$$= 99 -1 \times 7 = -7$$

$$12 \times 9 = 108 \qquad 8 \times 1$$

$$8 \times 1 = 8$$

$$12 \times 8 = 96 \quad 10 \times 2 = 20$$

$$10 \times 2 = 20$$

$$9 \times (-8) = -72 \quad -5 \times 7 = -35$$

$$-5 \times 7 = -35$$

$$-10 \times 8 = -80 \quad 11 \times 5 = 55$$

$$11 \times 5 = 55$$

$$-12 \times 10 = -120$$
 $5 \times 8 = 40$

$$5 \times 8 = 40$$

$$8 \times (-10) = -80$$
 -6×4 = -24

$$-6 \times 4 = -24$$

$$12 \times 11 = 132 \quad 11 \times 8 = 88$$

$$11 \times 8 = 88$$

$$8 \times (-12) = -96$$

$$8 \times (-12) = -96$$
 -5×5 = -25

$$-10 \times (-11) = 110$$
 $10 \times (-9) = -90$

$$10 \times (-9) = -90$$

$$12 \times 12 = 144 \quad 4 \times 8 = 32$$

$$4 \times 8 = 32$$

$$10 \times 10 = 100$$

Multiplying Integers (F)

Name:

Date:

Score:

$$-11 \times 11 =$$

$$-4 \times (-2) =$$

$$-11 \times (-12) =$$

$$8 \times (-9) =$$

$$9 \times (-10) =$$

$$8 \times 5 =$$

$$-12 \times 10 =$$

$$-2 \times 5 =$$

$$12 \times 8 =$$

$$-5 \times (-4) =$$

$$10 \times (-9) =$$

$$1 \times (-2) =$$

$$10 \times 11 =$$

$$11 \times 9 =$$

$$-8 \times (-8) =$$

$$-3 \times (-1) =$$

$$-10 \times 10 =$$

$$-4 \times 5 =$$

$$-12 \times (-12) =$$

$$8 \times (-12) =$$

$$8 \times 10$$

$$-2 \times (-8) =$$

$$-11 \times (-8) =$$

$$-6 \times (-4) =$$

$$-12 \times (-9) =$$

Multiplying Integers (F) Answers

Name: _____ Date: _____ S

Score:

$$-11 \times 11 = -121 \quad -4 \times (-2) = 8$$

$$-11 \times (-12) = 132$$
 $8 \times (-9) = -72$

$$9 \times (-10) = -90$$
 $8 \times 5 = 40$

$$-12 \times 10 = -120 \quad -2 \times 5 = -10$$

$$12 \times 8 = 96 -5 \times (-4) = 20$$

$$10 \times (-9) = -90$$
 $1 \times (-2) = -2$

$$10 \times 11 = 110 \quad 11 \times 9 = 99$$

$$-8 \times (-8) = 64 \quad -3 \times (-1) = 3$$

$$-10 \times 10 = -100 \quad -4 \times 5 = -20$$

$$-12 \times (-12) = 144$$
 $8 \times (-12) = -96$

$$8 \times 10 = 80 -2 \times (-8) = 16$$

$$-11 \times (-8) = 88 \quad -6 \times (-4) = 24$$

$$-12 \times (-9) = 108$$

3 F 1 1		.	101
Multin	wing	Integers	('
munip	Lymme.	Integers	(\mathbf{U})

Name: _____ Date: ____

Score:

$$-10 \times 12 =$$

$$-1 \times 9 =$$

$$-12 \times 9 =$$

$$-7 \times (-5) =$$

$$-12 \times (-11) =$$

$$4 \times (-9) =$$

$$9 \times 12 =$$

$$-12 \times (-5) =$$

$$8 \times 8 =$$

$$8 \times (-9) =$$

$$-10 \times 9 =$$

$$-9 \times (-11) =$$

$$-12 \times 12 =$$

$$-8 \times 1$$

$$10 \times 8$$

$$12 \times 10 =$$

$$-10 \times 11 =$$

$$-5 \times (-8) =$$

$$9 \times (-10) =$$

$$7 \times 10$$

$$9 \times (-9) =$$

$$11 \times 11$$

$$1 \times 4$$

$$-10 \times (-10) =$$

$$-8 \times (-3) =$$

Multii	olving	Integers	(G)) Answers
wini		Tittegers	(\mathbf{v})	<i>, </i>

Name: _____ Date: ____ Score: __

$$-10 \times 12 = -120 -1 \times 9 = -9$$

$$-12 \times 9 = -108 \quad -7 \times (-5) = 35$$

$$-12 \times (-11) = 132$$
 $4 \times (-9) = -36$

$$9 \times 12 = 108 -12 \times (-5) = 60$$

$$8 \times 8 = 64 \qquad 8 \times (-9) = -72$$

$$-10 \times 9 = -90 \quad -9 \times (-11) = 99$$

$$-12 \times 12 = -144 -8 \times 1 = -8$$

$$10 \times 8 = 80 \qquad 12 \times 10 = 120$$

$$-10 \times 11 = -110 \quad -5 \times (-8) = 40$$

$$9 \times (-10) = -90$$
 $7 \times 10 = 70$

$$9 \times (-9) = -81$$
 $11 \times 11 = 121$

$$1 \times 4 = 4 -10 \times (-10) = 100$$

$$-8 \times (-3) = 24$$

Multiplying Integers (H)

Name:

Date:

Score:

$$-8 \times 8 =$$

$$10 \times (-8) =$$

$$10 \times (-12) =$$

$$11 \times 9 =$$

$$11 \times (-10) =$$

$$9 \times 11 =$$

$$-8 \times (-9) =$$

$$-8 \times 12 =$$

$$10 \times 9 =$$

$$-3 \times 7 =$$

$$10 \times 11 =$$

$$3 \times 12 =$$

$$8 \times (-10) =$$

$$5 \times (-5) =$$

$$10 \times 10 =$$

$$-9 \times (-1) =$$

$$-12 \times 9 =$$

$$9 \times (-7) =$$

$$9 \times 10 =$$

$$-6 \times 5 =$$

$$11 \times (-12) =$$

$$-1 \times 1 =$$

$$-8 \times 11 =$$

$$7 \times (-3) =$$

$$-11 \times (-8) =$$

Multiplying Integers (H) Answers

Date: Name:

Score:

$$-8 \times 8 = -64 \quad 10 \times (-8) = -80$$

$$10 \times (-8) = -80$$

$$10 \times (-12) = -120$$
 $11 \times 9 = 99$

$$11 \times 9 = 99$$

$$11 \times (-10) = -110$$
 $9 \times 11 = 99$

$$9 \times 11 = 99$$

$$-8 \times (-9) = 72$$

$$-8 \times (-9) = 72 \quad -8 \times 12 = -96$$

$$10 \times 9 = 90 \quad -3 \times 7 = -21$$

$$-3 \times 7 = -21$$

$$10 \times 11 = 110$$
 $3 \times 12 = 36$

$$3 \times 12 = 36$$

$$8 \times (-10) = -80$$
 $5 \times (-5) = -25$

$$5 \times (-5) = -25$$

$$10 \times 10 = 100 -9 \times (-1) = 9$$

$$-9 \times (-1) = 9$$

$$-12 \times 9 = -108 \qquad 9 \times (-7) = -63$$

$$9 \times (-7) = -63$$

$$9 \times 10 = 90 -6 \times 5 = -30$$

$$-6 \times 5 = -30$$

$$11 \times (-12) = -132$$
 -1×1 = -1

$$-1 \times 1 = -1$$

$$-8 \times 11 = -88 \quad 7 \times (-3) = -21$$

$$7 \times (-3) = -21$$

$$-11 \times (-8) = 88$$

n / 1	14 •	1 •	T	/T)
W111	ITID.	ıvıng	Integers	$(\)$
_ ,	- U- P	-,		(-)

Name: Date:

Score:

$$11 \times 9 =$$

$$11 \times 10 =$$

$$8 \times (-12) =$$

$$10 \times (-11) =$$

$$9 \times 9 =$$

$$12 \times 11 =$$

$$12 \times 9 =$$

$$-8 \times (-9) =$$

$$10 \times 12 =$$

$$-12 \times 10 =$$

$$-11 \times 12 =$$

$$-11 \times 8 =$$

$$-11 \times (-11) =$$

$$-3 \times (-8) =$$

$$-9 \times (-8) =$$

$$5 \times 9$$

$$-8 \times 10 =$$

$$6 \times (-4) =$$

$$-10 \times (-8) =$$

$$-8 \times (-11) =$$

$$8 \times 8 =$$

$$3 \times 10$$

$$-9 \times 10 =$$

$$-3 \times 5$$

Multiplying Integers (I) Answers
------------------------	------------

Name: _____ Date: ____ Score: _

$$11 \times 9 = 99 \qquad 11 \times 10 = 110$$

$$8 \times (-12) = -96$$
 $10 \times (-11) = -110$

$$9 \times 9 = 81 \quad 12 \times 11 = 132$$

$$12 \times 9 = 108 -8 \times (-9) = 72$$

$$10 \times 12 = 120 -12 \times 10 = -120$$

$$-11 \times 12 = -132 -11 \times 8 = -88$$

$$-11 \times (-11) = 121$$
 $-3 \times (-8) = 24$

$$-9 \times (-8) = 72$$
 $5 \times 9 = 45$

$$-8 \times 10 = -80$$
 $6 \times (-4) = -24$

$$-10 \times (-8) = 80 \quad -8 \times (-11) = 88$$

$$8 \times 8 = 64 \qquad 3 \times 10 = 30$$

$$-9 \times 10 = -90 \quad -3 \times 5 = -15$$

$$9 \times 11 = 99$$

Multiplying Integers (J)

Name:

Date:

Score:

$$-10 \times (-8) =$$

$$8 \times 5 =$$

$$9 \times 11 =$$

$$-9 \times 9 =$$

$$11 \times (-9) =$$

$$-10 \times (-1) =$$

$$9 \times 12 =$$

$$8 \times 1 =$$

$$-8 \times (-10) =$$

$$-10 \times 3 =$$

$$10 \times 11 =$$

$$-9 \times (-6) =$$

$$-8 \times 9 =$$

$$11 \times 8$$

$$12 \times (-11) =$$

$$-5 \times 4$$

$$-8 \times (-8) =$$

$$9 \times 3 =$$

$$-12 \times (-8) =$$

$$12 \times (-12) =$$

$$10 \times (-12) =$$

$$-4 \times 5 =$$

$$-5 \times (-2) =$$

$$-10 \times (-7) =$$

$$6 \times 5$$

Score: Date: Name:

$$-10 \times (-8) = 80$$

$$8 \times 5 = 40$$

$$9 \times 11 = 99$$

$$9 \times 11 = 99 -9 \times 9 = -81$$

$$11 \times (-9) = -99$$

$$11 \times (-9) = -99 \quad -10 \times (-1) = 10$$

$$9 \times 12 = 108 \qquad 8 \times 1 = 8$$

$$8 \times 1 = 8$$

$$-8 \times (-10) = 80$$
 $-10 \times 3 = -30$

$$-10 \times 3 =$$

$$10 \times 11 = 110 -9 \times (-6) = 54$$

$$-9 \times (-6) = 54$$

$$-8 \times 9 = -72$$

$$11 \times 8 = 88$$

$$12 \times (-11) = -132$$

$$12 \times (-11) = -132$$
 -5×4 = -20

$$-8 \times (-8) = 64$$

$$9 \times 3 = 27$$

$$-12 \times (-8) = 96$$
 $12 \times (-12) = -144$

$$12 \times (-12) = -144$$

$$10 \times (-12) = -120$$
 -4×5 = -20

$$-4 \times 5$$

$$= -20$$

$$-5 \times (-2) = 10$$

$$-5 \times (-2) = 10$$
 $-10 \times (-7) = 70$

$$6 \times 5 = 30$$